## 2019 Budget / Collections & Insurance Resolutions

A copy of the 2019 Budget is enclosed and other important documents are available on the website. The Board of Directors and CMI have worked very hard to keep the HOA fees as low as possible; there will be a small increase due to an increase in utility costs and additional reserve funding. If you are not enrolled in the automatic debit program (ACH), you will soon be receiving your coupon payment books for 2019.

## HOA Payment Information

Please review the following payment information for your 2019 HOA fees:

- If you are enrolled in CMI's automatic debit program (ACH), your assessment amount will be automatically updated starting with your January 2019 payment. If you use ACH, you <u>WILL NOT</u> receive a coupon book for 2019.
- If you use your bank's bill pay service, please be sure your account number is included in your instructions to your bank; payments received with no coupon and no account number must be forwarded to our office for research, causing delays in posting.
- ▶ Please make all checks payable to Millridge Townhomes be sure to write your CMI account number in the memo line of your check. Checks should be addressed as follows: Millridge Townhomes c/o CMI, PO Box 54568, Los Angeles, CA 90054-0568. NOTE: All checks made payable to CMI take extra time to process, as they must be endorsed by a CMI corporate officer.
- For more payment option information, please visit <a href="http://www.communitymgt.com/">http://www.communitymgt.com/</a> index.cfm/your-community/payment-options/.

## 24/7/365 Emergency Service

Call 503-233-0300 "CMI Emergency 24x7 Service" for any emergency related to the Association. If your problem can wait until normal business hours, please do so to save emergency vendor call-out costs to your Association. <u>Examples of emergencies:</u>

- <u>Emergency</u>: plumbing leak (break in a water pipe) VS. <u>Not an emergency</u>: plumbing noise (usually air in the pipes).
- Emergency: irrigation pipe flooding lawn VS. Not an emergency: brown spots.

Emergencies not related to the Association: Fire – call 911 immediately; Power Outages –contact PGE; Safety and Health Emergencies – call 911 immediately.

### Oh Christmas Tree!

We are writing to remind you about the proper way to dispose of your Christmas tree after the holiday season; please refer to <u>The House Rule</u> below:

<u>"Large Objects:</u> Unit owners will be charged a fee for hauling away tires, appliances, furniture or landscape materials [this is includes Christmas trees] Place large objects next to the dumpster orby your garage on Thursday night. Large objects will not be picked up unless the owner calls Walker Garbage." Walker Garbage: 503.531.6330

If a resident uses Walker Garbage, a fee will be assessed to the Unit's HOA account (fee depends on size and weight of item).

#### Community Management, Inc.

COMMUNITY MANAGEMENT, INC. 2105 SE 9TH AVENUE PORTLAND, OR 97214 503-233-0300 phone, 503-233-8884 fax

COMMUNITY MANAGER
STEVE MEYER, VICE PRESIDENT
503-445-1216 (DIRECT LINE)
STEVEM@COMMUNITYMGT.COM

COMMUNITY ADMINISTRATOR
LAUREN MOSBY
503-445-1117 (DIRECT LINE)
LAURENM@COMMUNITYMGT.COM

## YOUR BOARD OF DIRECTORS

Justin Redd- President

Tom Messecar- Vice President

Sue Seaver - Treasurer

Laura Holgate - Secretary

Jim Bauer - Director

Please remember that your Board of Directors are volunteers. Be sure to thank them for their time and service to the HOA!





PAGE 2 MILLRIDGE TOWNHOMES

### Holiday Entertaining - Guests and Noise



Many choose to celebrate the holiday season by hosting friends and family for gatherings.

Whether you are entertaining a few guests or are having a party for several people, please be aware of the extra noise generated by music and voices.

It may be helpful to post a sign at your door reminding guests to be aware of noise levels, especially as they leave your event. Your neighbors will appreciate it!

## Freeze Alert Information

Below are a few helpful tips to prepare for freezing weather this winter:

- Locate your water shut-off. If your pipes freeze and break, you are going to want to locate the water shut-off... FAST! These shut-offs are usually near the point where the pipes enter the unit or near the hot water heater.
- If it gets really cold, wrap all the pipes you can easily reach with newspaper, they make excellent temporary insulators.
- Leave the heat on. You should maintain electricity to your Unit at all times. A minimum temperature of 56 degrees must be maintained when exterior temperatures are 32 degrees or below. When temperatures drop below freezing, leave cupboard doors open (kitchen, bathroom, etc.) so pipes within those cupboards are exposed to interior heat.
- Open both hot and cold taps, and allow faucets to drip!. This tip is especially vital.
- If your water heater is located on a balcony or in a garage, make sure the storage area is well insulated and exposed pipes are wrapped.
- If you are going to be away and there is a continued freeze, you or someone you have notified should turn off your hot water supply line at the source and drain your lines. This is especially necessary if you will not be using

your hot water for a long period of time, or if your unit is vacant for any reason.

- If you are going to be away for an extended period of time during the winter months, please ensure you have appointed someone to inspect your Unit on a regular basis. Additionally, please ensure your unit is inspected immediately if there is freezing weather, as it is your responsibility to minimize any damage occurring from frozen water pipes.
- Bring in water hoses and cover outside faucets. Wrap exposed pipes. Close or cover outside foundation vents. Allow sink faucets to drip on extremely cold nights to prevent freezing pipes under your unit.
- Owners, residents, and/or rental agents are responsible for ensuring there is a heat source in the Unit at all times.
- Observing freeze alert requirements/recommendations is extremely important. Many insurance companies are inclined to deny claims and tender them to the individual homeowner's insurance company if a vacant Unit has not been winterized and freeze damage





Your Board of Directors and Management Team wish you a safe, happy, and healthy holiday season and wonderful

New Year.

# MILLRIDGE HOMEOWNERS ASSOCIATION 2019 APPROVED OPERATING BUDGET

	nding Date: 12-31-19	2019	2019
		Approved	Approved
		MONTHLY	ANNUAL
<u>CODE</u>	<u>INCOME</u>	<b>BUDGET</b>	<b>BUDGET</b>
5000	Homeowners' Fees	26,140.91	313,690.9
5230	Clubhouse Income	29.17	350.0
5830	Interest Income	25.26	303.1
5845	Late Charges	71.41	856.9
	TOTAL INCOME	26,266.76	315,201.07
6060	Electric	464.27	5,571.2
6090	Garbage	1,534.00	18,408.0
6105	Gas	146.73	1,760.7
6150	Sewer	4,540.27	•
		,	54,483.2
6195	Water	3,489.12	41,869.4
6225	Plumbing Maintenance	66.67	800.1
6540	Gutters & Downspouts	308.37	3,700.4
6585	General Maintenance Supplies	67.12	805.4
6675	Pest Control	154.58	1,854.9
6690	Property Maintenance	156.82	1,881.8
6735	Roof Maintenance	201.56	2,418.7
7105	Office Expense - CMI	364.39	4,372.6
7330	Office Expense - HOA	37.50	450.0
7120	Consulting Fees	62.50	750.0
7225	Insurance	2,292.62	27,511.5
7255	Legal	125.02	1,500.2
7285	CMI Management Expense	67.50	810.0
7300	CMI Management Fee	2,070.25	24,842.9
7375	Website Expense	50.00	600.0
7465	Taxes, Licenses, Fees & Audits	265.92	3,191.0
7480	Bad Debts - Uncollectable	59.58	715.0
7630	Sprinkler System Repair	250.01	3,000.1
7675	Landscape Maintenance Contra	3,079.83	36,957.9
7690	Landscape Improvements	250.00	3,000.0
8455	Club House Expense	25.91	310.9
8530	Swimming Pool Maint & Chemic	708.69	8,504.2
0330	TOTAL FROM OPERATIONS	20,839.26	250,071.0
1700			
1790	General Operating Contingency	- E 427 E0	- 6E 120 0
	Donlacomont Docorvos	5,427.50	65,129.9
1908	Replacement Reserves	-	215 201 0
	Replacement Reserves TOTAL OPERATIONS & RES	26,266.76	315,201.0
1908	TOTAL OPERATIONS & RES	26,266.76	•
1908	TOTAL OPERATIONS & RESIGET FORECAST = 2.5% h	26,266.76 ttps://www.bl	s.gov/news.re
1908 T BUDO hese pro	TOTAL OPERATIONS & RESI GET FORECAST = 2.5% h ojections are subject to increase of	26,266.76 https://www.bl or decrease to re	s.gov/news.re
1908 T BUDO hese pro	TOTAL OPERATIONS & RESIGET FORECAST = 2.5% h	26,266.76 https://www.bl or decrease to re	s.gov/news.re
1908 T BUDO hese pro	TOTAL OPERATIONS & RESI GET FORECAST = 2.5% h ojections are subject to increase of	26,266.76 https://www.bl or decrease to re	s.gov/news.re
1908 AT BUDO hese pro	TOTAL OPERATIONS & RESI GET FORECAST = 2.5% h ojections are subject to increase of	26,266.76 https://www.bl or decrease to re	eflect changes in
1908 T BUDO hese pro	TOTAL OPERATIONS & RESI GET FORECAST = 2.5% h ojections are subject to increase of	26,266.76 https://www.bl or decrease to re	s.gov/news.re
1908 AT BUDO hese pro	TOTAL OPERATIONS & RESI GET FORECAST = 2.5% h ojections are subject to increase of	26,266.76 https://www.bl or decrease to re	s.gov/news.re
1908 AT BUDO hese pro	TOTAL OPERATIONS & RESI GET FORECAST = 2.5% h ojections are subject to increase of	26,266.76 https://www.bl or decrease to re	s.gov/news.re
1908 AT BUDO hese pro	TOTAL OPERATIONS & RESI GET FORECAST = 2.5% h ojections are subject to increase of	26,266.76 https://www.bl or decrease to re	s.gov/news.re
1908 T BUDO hese pro	TOTAL OPERATIONS & RESI GET FORECAST = 2.5% h ojections are subject to increase of	26,266.76 https://www.bl or decrease to re	s.gov/news.re
1908 AT BUDO hese pro	TOTAL OPERATIONS & RESI GET FORECAST = 2.5% h ojections are subject to increase of	26,266.76 https://www.bl or decrease to re	s.gov/news.re
1908 T BUDO hese pro	TOTAL OPERATIONS & RESI GET FORECAST = 2.5% h ojections are subject to increase of	26,266.76 https://www.bl or decrease to re	s.gov/news.re

#### SCHEDULE OF FEES

MRHOA - Assessment HOA Fees
Total Assessment 313,690.96

		0=0,000.00		Actual
	%		Annual	Mtly
Acct #	Interest	TTL Assmt	Assmt	Assmt
20501	0.010438	313,690.96	3,274.29	272.86
20502	0.010438	313,690.96	3,274.29	272.86
20503	0.010481	313,690.96	3,287.94	273.99
20504	0.010481	313,690.96	3,287.94	273.99
20505	0.010438	313,690.96	3,274.29	272.86
20506	0.010481	313,690.96	3,287.94	273.99
20507	0.010481	313,690.96	3,287.94	273.99
20508	0.010481	313,690.96	3,287.94	273.99
20509	0.010438	313,690.96	3,274.29	272.86
20510	0.010438	313,690.96	3,274.29	272.86
20511	0.010481	313,690.96	3,287.94	273.99
20512	0.010307	313,690.96	3,233.36	269.45
20513	0.010307	313,690.96	3,233.36	269.45
20514	0.010438	313,690.96	3,274.29	272.86
20515	0.010481	313,690.96	3,287.94	273.99
20516	0.010481	313,690.96	3,287.94	273.99
20517	0.010438	313,690.96	3,274.29	272.86
20518	0.010307	313,690.96	3,233.36	269.45
20519	0.010307	313,690.96	3,233.36	269.45
20520	0.010438	313,690.96	3,274.29	272.86
20521	0.010481	313,690.96	3,287.94	273.99
20522	0.010438	313,690.96	3,274.29	272.86
20523	0.010481	313,690.96	3,287.94	273.99
20524	0.010481	313,690.96	3,287.94	273.99
20525	0.010307	313,690.96	3,233.36	269.45
20526	0.010307	313,690.96	3,233.36	269.45
20527	0.010264	313,690.96	3,219.72	268.31
20528	0.010264	313,690.96	3,219.72	268.31
20529	0.009916	313,690.96	3,110.58	259.21
20530	0.009916	313,690.96	3,110.58	259.21
20531	0.010307	313,690.96	3,233.36	269.45
20532	0.010307	313,690.96	3,233.36	269.45
20533	0.010264	313,690.96	3,219.72	268.31
20534	0.010264	313,690.96	3,219.72	268.31
20535	0.009916	313,690.96	3,110.58	259.21
20536	0.010307	313,690.96	3,233.36	269.45
20537	0.010307	313,690.96	3,233.36	269.45
20538	0.010307	313,690.96	3,233.36	269.45
20539	0.010307	313,690.96	3,233.36	269.45
20540	0.009916	313,690.96	3,110.58	259.21
20541	0.010264	313,690.96	3,219.72	268.31
20542	0.010264	313,690.96	3,219.72	268.31
20543	0.009916	313,690.96	3,110.58	259.21
20544	0.009916	313,690.96	3,110.58	259.21
20545	0.010307	313,690.96	3,233.36	269.45
20546	0.010307	313,690.96	3,233.36	269.45
20547	0.010264	313,690.96	3,219.72	268.31

#### SCHEDULE OF FEES

20597	0.010481	313,690.96	3,287.94 313 690 95	273.99
20596	0.010438	313,690.96	3,274.29	272.86
20595	0.010438	313,690.96	3,274.29	272.86
20594	0.010481	313,690.96	3,287.94	273.99
20593	0.010307	313,690.96	3,233.36	269.45
20592	0.010264	313,690.96	3,219.72	268.31
20591	0.010438	313,690.96	3,274.29	272.86
20590	0.010481	313,690.96	3,287.94	273.99
20589	0.010307	313,690.96	3,233.36	269.45
20588	0.010264	313,690.96	3,219.72	268.31
20587	0.010438	313,690.96	3,274.29	272.86
20586	0.010481	313,690.96	3,287.94	273.99
20585	0.010438	313,690.96	3,274.29	272.86
20584	0.010481	313,690.96	3,287.94	273.99
20583	0.010438	313,690.96	3,274.29	272.86
20582	0.010307	313,690.96	3,233.36	269.45
20581	0.010307	313,690.96	3,233.36	269.45
20580	0.010481	313,690.96	3,287.94	273.99
20579	0.010438	313,690.96	3,274.29	272.86
20578	0.010438	313,690.96	3,274.29	272.86
20577	0.010307	313,690.96	3,233.36	269.45
20576	0.010438	313,690.96	3,274.29	272.86
20575	0.010481	313,690.96	3,287.94	273.99
20574	0.010438	313,690.96	3,274.29	272.86
20573	0.010481	313,690.96	3,287.94	273.99
20572	0.010438	313,690.96	3,274.29	272.86
20571	0.010307	313,690.96	3,233.36	269.45
20570	0.010481	313,690.96	3,287.94	273.99
20569	0.010481	313,690.96	3,287.94	273.99
20568	0.010438	313,690.96	3,274.29	272.86
20567	0.010481	313,690.96	3,287.94	273.99
20566	0.010307	313,690.96	3,233.36	269.45
20565	0.009916	313,690.96	3,110.58	259.21
20564	0.009916	313,690.96	3,110.58	259.21
20563	0.010264	313,690.96	3,219.72	268.31
20562	0.010264	313,690.96	3,219.72	268.31
20561	0.009916	313,690.96	3,110.58	259.21
20560	0.010307	313,690.96	3,233.36	269.45
20559	0.010307	313,690.96	3,233.36	269.45
20558	0.009916	313,690.96	3,110.58	259.21
20557	0.009916	313,690.96	3,110.58	259.21
20556	0.009916	313,690.96	3,110.58	259.21
20555	0.010307	313,690.96	3,233.36	269.45
20554	0.010307	313,690.96	3,233.36	269.45
20553	0.010307	313,690.96	3,233.36	269.45
20552	0.010307	313,690.96	3,233.36	269.45
20551	0.009916	313,690.96	3,110.58	259.21
20550	0.009916	313,690.96	3,110.58	259.21
20549	0.009916	313,690.96	3,110.58	259.21
20548	0.010264	313,690.96	3,219.72	268.31

TOTALS

313,690.95 26,140.91

#### REPLACEMENT RESERVE BUDGET

#### 2019 Replacement Reserve Budget

item	2019 touchup painting
code	20-6630
expense	\$7,040.00
item	asphalt replacement area 2 & 3
code	20-6660
expense	\$53,357.00
item	building 1/2/3 roof contingency
code	20-6735
expense	\$30,750.00
item	replace sand pool filter
code	20-8530
expense	\$812.00
item	pool pump motor replace
code	20-8530
expense	\$922.00
item	pool chlorine feeders replace